61.) Which of the following statement(s) is/are correct regarding the Protection of
Children from Sexual Offences (POCSO) Act, 2012?

1.) It is gender neutral.

2.) It defines a child as one under the age of 16.

3.) It also includes a procedure to decide upon cases where children above the age of
16 years have been alleged to commit a heinous offence.

Select the correct answer using the code given below:

a.) 2 and 3 only

b.) 2 only

c.) 1 only

d.) 3 only

62.) Which one of the following pairs is correctly matched?

Tiger Reserve (TR) - State
a.) Kawal TR - Tamil Nadu
b.) Melghat TR - Maharashtra
c.) Valmiki TR - Madhya Pradesh
d.) Nameri TR - Arunachal Pradesh

63.) In which type of water is it easier to swim?
a.) Fresh Water b.) Sea Water
c.) Normal Water d.) None of the above

64.) Which among the following has phototrophic nutrition?
a.) Fungi b.) Bacteria
c.) Virus d.) Protozoa

65.) The First Factory of Cotton Textile in India was established in 1818 at:
a.) Kolkata b.) Bombay
c.) Amravati d.) Kochi

66.) When did the Supreme Court rule in favour of a Ram temple on a disputed 2.77
acre plot in Ayodhya?

a.) 10.10.2019 b.) 09.10.2019

c.) 09.11.2018 d.) 09.11.2019

67.) Kangtu and Namcha Barwa, are the important mountain peaks of which of the
following Himalayas?

a.) Uttarakhand Himalayas b.) Arunachal Himalayas

c.) Kashmir Himalayas d.) Sikkim Himalayas

68.) What causes rainfall on the coastal areas of Tamil Nadu in the beginning of winters?
a.) South-West monsoon b.) Local air circulation
c.) North-Eastern monsoon d.) Temperate cyclones



